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I’ve had a trouble in integrating . ∫  cos ψ 𝐺
1
𝐺

2
 𝑑𝑝

By studying https://en.wikipedia.org/wiki/Gaussian_integral that you link, I became aware of 
the Gaussian integral.   
 
By now, I calculated below by refering 
https://en.wikipedia.org/wiki/Common_integrals_in_quantum_field_theory 
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But the calculating is tricky, as the initial values didn’t present on the paper. ∫  cos ψ

I’ll spend this weekend on thinking about workaround. 
 
Sorry for the delay… 
 
 
 
 
 
 

https://en.wikipedia.org/wiki/Gaussian_integral
https://en.wikipedia.org/wiki/Common_integrals_in_quantum_field_theory


 
 
Classical GMM 
alpha1 = 0.3 alpha2 = 0.22 

 
 

 



Quantum GMM 

phi alpha1 = 0.3 alpha2 = 0.22 
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Integral of QGMM probability space 
 
mean = 0, covariance = 1, probability = 0.04544 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
mean = 0, covariance = 5, probability = 0.4988 
 

 



mean = 0, covariance = 10, probability = 0.974 
 

 
 

 
mean = 0, covariance = 20, probability = 0.99 
 

 


